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�D4>F<G=V 74=OFFO 7 8-10. 

�45>D4F>D=5 74=OFFO 7 6-9. 
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2 

 'EL>7> 74 <>4G?5< 2 10 

 $47>< 28 

 

12.  %4<>EFV==4 D>5>F4 

�5F>N E4<>EFV==>W D>5>F< EFG45=F4 T: =46G<F<EO >>D<EFG64F<EO 5V5?V>F5G=<<< D>=44<< 

V >4F4?>74<<, ?D4FN64F< 7 VEF>D<G=<<< F4 ?VF5D4FGD=<<< 465D5?4<<, E>?444F< >>=E?5>F<, 

4=4?V7G64F< <4F5DV4?, ?>DV6=N64F< DV7=V =4G>>6V >>=F5?FVW F4 D>5<F< 6<E=>6><. 

5 

�>5G4>64 F<>?V6 ?4D>E<?>6<E GEF4=>6>>  =4 4V47D4<4E EF4=G 6>4O=>W 
?4D<. �>5G4>64 ?4D>E<?>6<E F<>?V6 6 4V47D4<4E EF4=G. �<7=4G5==O 
>E=>6=<E E4D4>F5D<EF<>  ?4D>E<?>6>7> F<>?G &�%. 

2 

6 

�>5G4>64 F<>?V6 ?4D>E<?>6<E GEF4=>6>>  =4 4V47D4<4E EF4=G 6>4O=>W 
?4D<. �>5G4>64 ?4D>E<?>6<E F<>?V6 6 4V47D4<4E EF4=G. �<7=4G5==O 
>E=>6=<E E4D4>F5D<EF<>  ?4D>E<?>6>7> F<>?G ��%.   

2 

7 
$>7D4EG=>> ?>>47=<>V6 5D5>F<6=>EFV D>5>F< ?4D>E<?>6>7> F<>?G- ���, 

>>5DVFVT=FG 6<>>D<EF4==O ?4?<64 ?<F><<E 6<FD4F ?4?<64 V ?4D< 

2 

 'EL>7> <>4G?L 2 14 

 'EL>7> 42 
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�<4< E4<>EFV==>W D>5>F< EFG45=F4: 
- >?D4FN64==O ?5>FV==>7> <4F5DV4?G; 
- >?D4FN64==O F5< >GDEG, O>V 6<=>EOFLEO =4 E4<>EFV==5 6<6G5==O, 74 E?<E>4<< ?VF5D4FGD<, 

D5>><5=4>64=<<< 6 D>5>GV= =46G4?L=V= ?D>7D4<V 4<EF<??V=<; 

- ?V47>F>6>4 4> 6<>>=4==O <>4G?L=>W >>=FD>?L=>W D>5>F< (F5EFG64==O); 
- 6V46V4G64==O >>=EG?LF4FV= (77V4=> 7D4DV>G >>=EG?LF4FV= >4D54D<); 

- ?V47>F>6>4 4> E>?444==O VE?<FG 74 >>=FD>?L=<<< ?<F4==O<<. 

 

�<F4==O 4?O E4<>EFV==>7> 6<6G5==O EFG45=F4<< 

7 

7/? 
�4764 F5<< 

�V?L>VEFL 
7>4<= 

 �>4G?L 1  

1 �E=>6=V 4<D5D5=FV4?L=V DV6=O==O F5D<>4<=4<V>< 12 

2 �?4EF<6>EFV E4D4>F5D<EF<G=<E DG=>FV= 12 

3 $V7<G=<= 7<VEF V7>54D=>-V7>F5D<VG=>7> ?>F5=FV4?G. �=5D7VO �V55E4. 12 

4 �56V 74EF>EG64==O 4DG7>7> 74>>=G F5D<>4<=4<V>< 12 

5 �5E>?NF=<= =G?L F4 FD5FV= 74>>= F5D<>4<=4<V><. 12 

6 �474?L=V G<>6< EF4=G DV6=>647< F5D<>4<=4<VG=<E E<EF5< 12 

7 %F4= F5D<>4<=4<VG=>W DV6=>647< >4=>DV4=<E E<EF5< 6 

8 '<>6< DV6=>647< 5474F>D47=<E E<EF5< 6 

9 �<7=4G5==O 5D5>F<6=>7> >>5DVFVT=FG >>D<E=>W 4VW F5??>5?5>FD>F5=FD4?V 6 

10 �??<6 >E=>6=<E ?4D4<5FDV6 =4 65?<G<=G >>5DVFVT=FG >>D<E=>W 4VW F<>?G 
$5=>V=4 

6 

 'EL>7> 74 <>4G?5< 1 96 

 �>4G?L 2  

1 �D>G<F4F< V GE6V4><<F< >4<=<FV 6<<VDN64==O GEVE F5D<>4<=4<VG=<E 

?4D4<5FDV6, >>FDV E4D4>F5D<7GNFL EF4= 6>4O=>W ?4D< G DV7=<E  E<EF5<4E 

>4<=<FL 6<<VDN64==O. 

3 

2 �D>G<F4F< V GE6V4><<F<  ?D<=F<?>6V 6V4<V==>EFV 6<7=4G5==O 
F5D<>4<=4<VG=<E ?4D4<5FDV6 V DG=>FV= 4?O V454?L=>7> D>5>G>7> FV?4 V 
6>4O=>W ?4D< O> D54?L=>7> D>5>G>7> FV?4. 

4 

3 �<6G<F<  V 7=4F< D>7D4EG=>>6V 74?56=>EFV 4?O 6<7=4G5==O >E=>6=<E 

?4D4<5FDV6 V DG=>FV=, M> E4D4>F5D<7GNFL EF4= V ?D>F5E< 7<V=< EF4=G 
6>4O=>W ?4D< 6V4 DV4>>W D47< 4> ?4D>?>4V5=>W. 

4 

4 �<>>=4F< D>7D4EG=><  >E=>6=<E ?4D4<5FDV6 V DG=>FV= , M> 

E4D4>F5D<7GNFL 6>4O=G ?4DG G DV7=<E D47>6<E EF4=4E: D>5>FG, 6=GFDVL=N 

5=5D7VN, 5=F4?L?VN, 5=FD>?VN 

4 

5 �E6>WF< D>5>FG 7 4V47D4<4<< EF4=G 6>4O=>W ?4D<. �<>>=4F< D>7D4EG=>< 

?4D4<5FDV6 6>4O=>W ?4D< 74 7444=<<< 65?<G<=4<< F<E>G =4E<G5=>W ?4D<, 

F<E>G V F5<?5D4FGD< ?5D57DVF>W ?4D<, 6>?NG4NG< 5=F4?L?VN, 5=FD>?VN, 

EFG?V=L EGE>EFV 74  4>?><>7>N 4V47D4< EF4=G. 

4 

6 �<>>=4F< ?>5G4>6G ?4D>E<?>6>7> F<>?G >>=45=E4FV==>W 5?5>FD>EF4=FVW, 
6<7=4G<F< ?4D4<5FD< >E=>6=<E E4D4>F5D=<E F>G>> F<>?G 

4 

7 �<7=4G<F<  E4D4>F5D<EF<>< >E=>6=<E ?D>F5EV6  >>=45=E4FV==>7> 
F5??>DV>4FV==>7> F<>?G, O>V ?>FDV5=V 4?O >5D4EG=>G ��� F<>?G. 

3 

8 �<>>=4F< ?>5G4>6G ?4D>E<?>6>7> F<>?G &�&. �<7=4G<F< E4D4>F5D<EF<>< 

>E=>6=<E F>G>> F<>?G 74 4>?><>7>N 4V47D4< EF4=G. 
4 

9 �7=4=><<F<EL 7 <5F>4<>>N 6<7=4G5==O >E=>6=<E  ?<F><<E ?>>47=<>V6 
5D5>F<6=>EFV D>5>F< ?4D>E<?>6>7> F<>?G 

4 

10 �<6G<F< >?4E<DV>4FVN ?4D>6<E FGD5V=   ?4D>E<?>6<E F<>?V6. �=4F<  5 
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>>=EFDG>FVN FGD5V= 

11 �<>>=4F< >7?O4 7 ?<F4==O ?D> E?>E>5< ?V46<M5==O 5D5>F<6=>EFV D>5>F< 

6<E>>>F5<?5D4FGD=<E F5??>F5E=VG=<E GEF4=>6>>.  �<>>=4F< >FV=>G 
5D5>F<6=>EFV 74E>4V6. 

5 

12 �7=4=><<F<EL 7 E4D4>F5D<EF<>4<<  4?LF5D=4F<6=<E D>5>G<E FV?, O>V 
6<>>D<EF>6GNFLEO 6 >D74=VG=><G F<>?V $5=>V=4. 

4 

13 �=4=F< V=D>D<4FVN 7 ?<F4==O ?D> >5<565==O DG=>FV>=G64==O  
?4D>E<?>6<E F<>?V6 V ?D> VE=GNGV E?>E>5<  ?>4>?4==O F4><E >5<565=L 

4 

14 �<6G<F< ?<F4==O ?D> E?>E>5< ?V46<M5==O 5D5>F<6=>EFV D>5>F< GEF4=>6>> 
>><5V=>64=>7> 6<D>5?5==O F5??>6>W V 5?5>FD<G=>W 5=5D7VW, E>>D>G5==O 
6<4V6 6<>>?=>7> ?4?<64 V 7<5=L5==O 745DG4=5==O 4>6>V??O 

7    

15 �<6G<F< EE5<< D54?V74FVW >><5V=>64=>7> 5V=4D=>7> ?4D>747>6>7> F<>?G 
5?5>FD<G=<E EF4=FV=  

5 

16 �<>>=4F< 4=4?VF<G=<= >7?O4 ?<F4==O 7V E?>E>5V6 6<>>D<EF4==O E><4=>7> 

F5??4 V 5V>?4?<64 4?O 6<D>5?5==O 5?5>FD<G=>W 5=5D7VW 
8 

 'EL>7> 74 <>4G?5< 2 72 

 $47>< 168 

13.  �=4<6V4G4?L=V 74644==O 

�<>>=4==O D>7D4EG=>>6>-7D4DVG=>W D>5>F< «%G<VLV V454?L=<E 747V6, ?D>F5E< 7<V=< 

?4D4<5FDV6 V454?L=<E 747V6 F4 DV6=O==O EF4=G D54?L=<E 747V6 F4 F<>?< F5??>6<E 

46<7G=V6» 6 FD5FL><G E5<5EFDV. 

�474?L=<= >5EO7 G4EG =4 V=4<6V4G4?L=G D>5>FG E>?444T 48 7>4. 

�4 F5= G4E EFG45=F 6<>>=GT >5>6�O7>>65 74644==O, O>5 <4T =4 <5FV 74>DV??5==O =46<G>>, 
>FD<<4=<E ?D< 6<6G5==V F5>D5F<G=>7> >GDEG F4 6<>>=4==V 74644=L ?D4>F<G=<E 74=OFL. �E>??NT 
=46G4?L=<= <4F5DV4? GEL>7> >GDEG. 

$>5>F4 6<>>=GTFLEO 6V4?>6V4=> 4> <5F>4<G=<E D5>><5=44FV=, =46545=<E G [4]. 

 

14.  �5F>4< =46G4==O 

�D< 6<>?444==V 4<EF<??V=< 74EF>E>6GNFLEO E?>65E=V, =4>G=V F4 ?D4>F<G=V <5F>4< 

=46G4==O.  
%?>65E=V F4 =4>G=V <5F>4< =46G4==O 6<>>D<EF>6GNFLEO ?V4 G4E ?5>FV=, ?D4>F<G=<E 74=OFL, 

E4<>EFV==>W D>5>F<, >>=EG?LF4FV=, ?D4>F<G=V � ?D< 74V=E=5==V EFG45=F4<< E4<>EFV==>W D>5>F<. 

�V4 G4E ?D>6545==O ?5>FV= F4 ?D4>F<G=<E 74=OFL 6<>>D<EF>6GNFLEO F4>V E?>65E=V <5F>4< 

O> D>7?>6V4L V ?>OE=5==O. ,<D>>> 6<>>D<EF>6GTFLEO <5F>4 4>F<6V74FVW <<E?5==O EFG45=FV6, 
=4?D<>?44 <5F>4 "<>7>>6>7> LFGD<G".  

�> G<E?4 =4>G=<E <5F>4V6, O>V 74EF>E>6GNFLEO ?D< 6<>?444==V 4<EF<??V=<, =4?564FL: 
V?NEFD4FVO, 45<>=EFD4FVO, D>5>F4 V7 ?D<?444<< 4?O 6<7=4G5==O F5??>F5E=VG=<E E4D4>F5D<EF<> 
D>5>G<E FV?. 

15.  �5F>4< >>=FD>?N 

�>F>G=<= >>=FD>?L GE?VL=>EFV 74E6>T==O EFG45=F4<< =46G4?L=>7> <4F5DV4?G <>65 
74V=E=N64F<EO L?OE>< >?<FG64==O = >FV=N64==O 7=4=L EFG45=FV6 ?V4 G4E E4<>EFV==>W D>5>F< F4 
V=4<6V4G4?L=<E 74644=L, ?D>6545==O V ?5D56VD>< ?<EL<>6<E >>=FD>?L=<E D>5VF, F5EFG64==O 45> 6 
E>4V V=4<6V4G4?L=<E E?V655EV4 7V EFG45=F4<< ?V4 G4E >>=EG?LF4FV=. �<5VD >>=>D5F=<E D>D< V 
<5F>4V6 ?>F>G=>7> >>=FD>?N 7=4=L EFG45=FV6 74?56<FL 6V4 6<>?444G4 V 4>6>4<FLEO 4> WE=L>7> 
6V4><4 =4 ?5DL><G ?5>FV==><G 74=OFFV. �>4G?L=<= >>=FD>?L T G4EF<=>N ?>F>G=>7> >>=FD>?N V 
<4T =4 <5FV ?5D56VD>G 74E6>T==O EFG45=F>< ?56=>W EG>G?=>EFV 7=4=L F4 6<V=L, M> D>D<GNFL 
6V4?>6V4=<= <>4G?L. �V= D54?V7GTFLEO L?OE>< ?D>6545==O E?5FV4?L=<E >>=FD>?L=<E 74E>4V6 (G 
D>D<V F5EFG64==O G< =4?<E4==O EFG45=F4<< >>=FD>?L=<E D>5VF), ?D>6>4<FLEO =4?D<>V=FV 
>>6=>7> 7<VEF>6>7> <>4G?N 74 D4EG=>> 4G4<F>D=<E 74=OFL, ?V4 G4E 7DG?>6<E >>=EG?LF4FV= 45> 6 

74 D4EG=>> G4EG, 6V46545=>7> =4 E4<>EFV==G D>5>FG EFG45=FV6. �4 ?V4EF46V D57G?LF4FV6 
<>4G?L=>7> >>=FD>?N 74V=E=NTFLEO <V6E5EV==<= >>=FD>?L (4F5EF4FVO). 

�V4EG<>>6<= >>=FD>?L 4DG7>7> E5<5EFDG 74V=E=NTFLEO G D>D<V 4<D5D5=FV=>64=>7> 
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74?V>G, FD5FL>7>, G5F65DF>7> E5<5EFDV6 - G D>D<V E5<5EFD>6>7> 5>74<5=G. 

 

16.  $>7?>4V? 54?V6, O>V >FD<<GNFL EFG45=F< 6?D>4>66 E5<5EFDG 

 

�>F>G=5 >FV=N64==O, F5EFG64==O 
F4 E4<>EFV==4 = V=4<6V4G4?L=4 D>5>F4 
�<VEF>6<= <>4G?L 1 

&1 &2 &3 &4 &5 

�=4<6V4G4?L=V 
74644==O 

�<D5D5=FV=>64=<= 

74?V> 
%G<4 

20 6 7 7 15 0 30 100 

 

�>F>G=5 >FV=N64==O, F5EFG64==O 
F4 E4<>EFV==4 = V=4<6V4G4?L=4 D>5>F4 

�<VEF>6<= <>4G?L 2 

&6 &7 &8 &9 �=4<6V4G4?L=V 
74644==O 

%5<5EFD>6<= 

5>74<5= 
%G<4 

5 5 5 5 30 50 100 

 

�>F>G=5 F5EFG64==O F4 E4<>EFV==4 V V=4<6V4G4?L=4  D>5>F4 
 

�<VEF>6<= <>4G?L 3 

&1 &2 &3 &4 &5 &6 &7 &8 &9 &10 &11 &12 

�=4<6V-
4G4?L=5 
74644==O  

%5<5EFD>

6<= 

5>74<5= 

%G<4 

5 4 4 4 4 4 4 4 4 4 5 4 0 50 100 

 

,>4?4 >FV=N64==O: =4FV>=4?L=4 F4 ECTS 

100-54?L=4 
D5=F<=7>64 E<EF5<4 

>FV=N64==O 
�FV=>4 74 L>4?>N ��&% 

�FV=>4 74 =4FV>=4?L=>N L>4?>N 

4?O 5>74<5=G  

90 � 100 A � 6V4<V==> 5 � 6V4<V==> 

82 � 89 B � 4G65 4>5D5 

74 � 81 C � 4>5D5 
4 � 4>5D5 

64 � 73 D � 744>6V?L=> 

60 � 63 E � 4>EF4F=L> 
3 � 744>6V?L=> 

35 � 59 

FX � =5744>6V?L=> 7 
<>6?<6VEFN ?>6F>D=>7> 

E>?444==O 

0 � 34 

F � =5744>6V?L=> 7 
>5>6�O7>>6<< ?>6F>D=<< 

6<6G5==O< 4<EF<??V=< 

2 � =5744>6V?L=> 

 

�D46<?4 <>4G?L=>-D5=F<=7>6>7> >FV=N64==O 7=4=L 

 

�474?L=4 FDG4><VEF>VEFL 4<EF<??V=< � 100 54?V6, V7 =<E ?D< ?V4EG<>>6><G >>=FD>?V G 6<7?O4V 
5>74<5=G 50 54?V6 6V46545=> =4 ?>F>G=<= >>=FD>?L, 4 50 54?V6 � =4 ?V4EG<>>6<= (4?O  4>?GE>G 4> 

5>74<5=G =5>5EV4=> <4F< =5 <5=L5 25 54?V6 ?>F>G=>W GE?VL=>EFV). 
� ?D< E5<5EFD>6><G >>=FD>?V G 6<7?O4V 4<D5D5=FV=>64=>7> 74?V>G =4 ?>F>G=<= >>=FD>?L 

6V46545=> 70 54?V6 (4?O 4>?GE>G 4> 4<D5D5=FV=>64=>7> 74?V>G =5>5EV4=> <4F< =5 <5=L5 35  

54?V6 ?>F>G=>W GE?VL=>EFV). 
 

1. �>F>G=<= >>=FD>?L 2 E5<5EFD. �4?<, >FD<<4=V 6?D>4>66 E5<5EFDG, 74 6<44<< 

=46G4?L=>W 4VO?L=>EFV D>7?>4V?ONFLEO =4EFG?=<< G<=><: 



15 

 

  

- D>5>F4 =4 ?D4>F<G=<E, ?45>D4F>D=<E 74=OFFOE (6<>>=4==O ?D4>F<G=<E 74644=L, 
?45>D4F>D=<E D>5VF, 4 6 D47V WE ?D>?GE>V6 7 ?>646=>W ?D<G<=< � V=4<6V4G4?L=V E?V655EV4< =4 
>>=EG?LF4FVOE 74 F5<4<< 6V4?>6V4=<E 74=OFL) � 4> 70 54?V6 . 

�D<EGF=VEFL =4 ?5>FVOE =5 >FV=NTFLEO 6 54?4E. �D>?GE>< 74=OFL ?V4?O74NFL >5>6�O7>>6><G 
6V4?D4FN64==N 6 V=4<6V4G4?L=><G ?>DO4>G ?V4 G4E >>=EG?LF4FV=. �D>?GM5=5 74=OFFO <4T 5GF< 

6V4?D4FL>64=5 6?D>4>66 46>E =4EFG?=<E F<6=V6, ?D< FD<64?V= 6V4EGF=>EFV EFG45=F4 =4 74=OFFOE 

7 ?>646=>W ?D<G<=< 6EF4=>6?NTFLEO V=4<6V4G4?L=<= 7D4DV> 6V4?D4FN64==O ?D>?GE>V6, 4?5 =5 
?V7=VL5 ?>G4F>G 5>74<5=4FV==>W E5EVW. 

%FG45=F, O><= ?>6=VEFN 6<>>=46 ?D>7D4<G =46G4?L=>W 4<EF<??V=< V >FD<<46 4>EF4F=N 

D5=F<=7>6G >FV=>G (=5 <5=L5 35 54?V6), 4>?GE>4TFLEO 4> ?V4EG<>>6>7> >>=FD>?N 7 4<EF<??V=<. 

�>F>G=<= >>=FD>?L 3, 4 E5<5EFD<. �4?<, >FD<<4=V 6?D>4>66 E5<5EFDG, 74 6<44<< 

=46G4?L=>W 4VO?L=>EFV D>7?>4V?ONFLEO =4EFG?=<< G<=><: 

- D>5>F4 =4 ?D4>F<G=<E,?45>D4F>D=<E 74=OFFOE (6<>>=4==O ?D4>F<G=<E 74644=L, 
?45>D4F>D=<E D>5VF, 4 6 D47V WE ?D>?GE>V6 7 ?>646=>W ?D<G<=< � V=4<6V4G4?L=V E?V655EV4< =4 
>>=EG?LF4FVOE 74 F5<4<< 6V4?>6V4=<E 74=OFL) � 4> 50 54?V6 . 

�D<EGF=VEFL =4 ?5>FVOE =5 >FV=NTFLEO 6 54?4E. �D>?GE>< 74=OFL ?V4?O74NFL >5>6�O7>>6><G 
6V4?D4FN64==N 6 V=4<6V4G4?L=><G ?>DO4>G ?V4 G4E >>=EG?LF4FV=. �D>?GM5=5 74=OFFO <4T 5GF< 

6V4?D4FL>64=5 6?D>4>66 46>E =4EFG?=<E F<6=V6, ?D< FD<64?V= 6V4EGF=>EFV EFG45=F4 =4 74=OFFOE 

7 ?>646=>W ?D<G<=< 6EF4=>6?NTFLEO V=4<6V4G4?L=<= 7D4DV> 6V4?D4FN64==O ?D>?GE>V6, 4?5 =5 
?V7=VL5 ?>G4F>G 5>74<5=4FV==>W E5EVW. 

%FG45=F, O><= ?>6=VEFN 6<>>=46 ?D>7D4<G =46G4?L=>W 4<EF<??V=< V >FD<<46 4>EF4F=N 

D5=F<=7>6G >FV=>G (=5 <5=L5 25 54?V6), 4>?GE>4TFLEO 4> ?V4EG<>>6>7> >>=FD>?N 7 4<EF<??V=<. 

 

2. �V4EG<>>6<= >>=FD>?L �V4EG<>>6<< >>=FD>?5< T 4<D5D5=FV=>64=<= 74?V> (4DG7<= 

E5<5EFD), T 5>74<5= (FD5FV=, G5F65DF<= E5<5EFD). �>=< 74V=E=NNFLEO 6V4?>6V4=> 4> 6<<>7 
«�>?>65==O ?D> >D74=V74FVN >E6VF=L>7> ?D>F5EG 6 �4FV>=4?L=><G G=V65DE<F5FV «�>?F46EL>4 
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